Problem- Population of wolves is smaller than it is supposed to be in order to be sustainable 

Solution- to change previous decision of the parliament on the number of wolves under the protection from 210 to X

Res.Party- the parliament is to blame for determining small number ofwolves under the protection

Benefits: 1. Biodiversity conservation; 2.BC will lead to fulfilment of international laws and regulations and improvement of the image of Sweden  at the international arena

Action: We want people to sign the petition which will be submitted to the parliament  (law amendment)

